[ Efficiency vs vertpos |

- 0.2¢
20.18F
g o
>‘0.16_—
Q o
_50.14_—
O C
£0.12

0.1F

0.08
0.06
0.04

0.02F

.................................................

................................................

..............................................

...................................

Ratio

10p

1.10- 4

16-

Efficienq —— %g

e
H*.w* .

1 1 PR . T EEERTIT
1 ]

Jib- 4 A
B =t 3

: - L el --Eir -----------

107 1

11111
TooUoog

coc

Y STewgeony
fhar-p, eom

o uar

cnigquare1h—

Chiequar s e

ChiSquar

~ 0.2
20.18

) n
>0.16F
>
g C
$0.14F
(&) L
£0.12F
[J]
0.1F
0.08F
0.06F
0.04F

0.02

20 30

N 0.2r
>
0.0.18F

E

efficienc

=o0.16F
>o 14F
co 12F

0.1F
0.08F
0.06f

...........

...........

..........

Ratio

10 1520
Sim. PV z (cm)




	Contents
	Page 1


